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59 J9-U7 4 38 ¥ &1 qHt 397 7fAart

Y¥-97 e @Usl § [auifora 8 - @vs &, @, T, 9 I g |

Gus & H Y G 1 § 18 T%F Sglascdid aoT v §&T 19 TF 20 HWHIT T FHRIT
HTIRT TH-Teh 37 & 997 81

Gus @ § Y37 &A1 21 § 25 a9 3Afd ag-3a9GF (VSA) T#R & gl-gl 37l & 997 8|
QUE T 4 I GEAT 26 @ 31 d% AG-IRI (SA) IHR F dl-ciT 3l & g9 81

QUs g § Y97 G&a1 32 35 % G-3RI (LA) IR & Gra-vi< 3l & I3 3/

GUg T I Y97 G&IT 36 G 38 GId/TehIUT ShT3 STUTRA TR-TR 3Tl & J97 8/ Tl
fareheq 2t-gt 37ehl & Je @ faar 81

Y99-99 § Y fdey &l 1oa1 797 81 JEfU, @US & & 2 Yv °, @IS T & 2 I 4,
GUS T & 2 Y § a9T GUS € & 3 I 7 R faeheq &7 Jiae foar 7 81

g STEYIF & T TR FH1Y| Alg TavF & @ x=22/7 Wl
FAFI P IFINT Aot 3l

@ug - <h

TUT - & | Tgfahedta TR o T9 § 3R Th W9 HT 1 37 2|

1.

k =1 9 ek fore ofietor 3x — y + 8 = 0 3 6x — ky + 16 = 0 g Fsfua

@t gurdt 8, B 1
@) 5 (b) ~5 © 2 (@ -2

s 5.2 @ft. & T 99 W AB @91 CD @ THIR &% W@ 2| 39 T091 @t

% ofter 1 gft forat 2 7 1
(a) 5.2 9. (b) 10.4 3.

(c) 20.8 T, (d) 3t 7 feprelt S Tkl @

fgaTd sigval, TSk ST — 3 37R 4 &, il 5 1 1
(a) 1 (b) 2 (c) 3 (d) 3T 3feem

¢ Teh I T IRATT 3R &STha TEATcHS €9 § Sl 8, Al M ga hl Psamg ;1
(a) 29T (b) 7 A (c) 49me (d) 2 m

T Tema wefietor, fomren w9 2 iR gell m A g g, R 1
(@) x*+4=0 (b) x’—2=0 (c) 4x°—1=0 (d) x¥’—4=0

=1 4 =, feuma oo adie ? 1
(@) 2(x -1 =4x"—2x+1 (b) 2x—x*=x*+5

©) (M2x+B3Y+x=3-5x (d) (P +2x)* =x*+3 +4x°
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General Instructions :
Read the following instructions carefully and follow them :

1.
2.
3.

4.

9.

10.

This question paper contains 38 questions. All questions are compulsory.

Question paper is divided into FIVE sections - Section A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs) and
question number 19 and 20 are Assertion - Reason based questions of 1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type questions
of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions
carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In section E, question number 36 to 38 are case based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in 2
marks question in each case study.

There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions in Section E.

Draw neat figures wherever required. Take n = 22/7 wherever required if not
stated.

Use of calculators is not allowed.

SECTION - A

Section - A consists of Multiple Choice type questions of 1 mark each.

1.

The value of k for which the equations 3x —y + 8 =0and 6x —ky + 16 =0

represent coincident lines is : 1
1 1

@ 5 (b) -3 © 2 (@) -2

A circle of radius 5.2 cm has two tangents AB and CD parallel to each

other. What is the distance between the two tangents ? 1

(a) 5.2cm (b) 10.4 cm (c) 20.8cm (d) can’t find

The number of polynomials having zeroes — 3 and 4 is : 1

(a) 1 (b) 2 (c) 3 (d) more than 3

If the perimeter and the area of a circle are numerically equal, then the

radius of the circle is : 1

(a) 2 units (b) 7 units (c) 4 units (d) 2 m units

A quadratic equation whose one root is 2 and the sum of whose roots is
zero, 1S : 1
@ x¥+4=0 (b)) x¥-2=0 (¢) 4’—1=0 (d) x¥-4=0

Which of the following is not a quadratic equation ? 1
(@) 2(x—1)Y=4x*—2x+1 (b) 2x— x*=x*+5
() (\/Ex +\/§)2+x2=3x2—5x (d) (F+2x)7 =x"+3 +4x°

430/4/3 3 ggﬁg [P.T.O.



10.

11.

12.

13.

14.

15.

16.

17.

18.

[EIE
&%ﬁ
0P

T g9 W fed u fog & ga W forat Toet Yerd di=h S aendt 8 7

(a) TH (b) & (c) ¥k (d) =
e o e dean ush gedT i wTiieRdr @ gt B 7
(@) 0.1 (b) g ©) 3% d) %

30 /. et HAR % urg-fog @ 30 W, i gl W feud we fog @ WHR % Rew
%1 IAAT 0T R

(a) 30° (b) 45° (c) 60° (d) 90°
e 2,3,3,4,5,4,4,5,3,4,2,6,7 1 9570F ¢
(a) 2 (b) 3 (c) 4 (d) 5

e x —y=l,x+hky=5SRer ol g w afgdfaga x =2, =128, @
ka1 AaH 7

(a) -2 (b) -3 (c) 3 (d) 4
70 3R 40 % forw (HCF x LCM) TR 2
(@) 10 (b) 280 (c) 2800 (d) 70

weE (5 -35+5) w
(a) Uik 2 (b) Wl aen?  (c) sufmm aen? (d) qof 9 8

af T p (1) =3P+ Sx+ 63, A p(—2) FAAE

(a) 20 (b) 0 (c) -8 (d) 8
Ife AABC ~ADEF 2 3R ZA=47°, /ZE=83°%, @l LZC IR % :
(a) 47° (b) 50° (c) 83° (d) 130°

52 191 % U Gl TS THR W Bl TS Th TS H Y T U1 A1geAl kTt
AT 21 39 U o ATd ST B shl TTRiehdT T B ?

(@ < (b) 5 © 55 ) 3

s 7 4l a1l I % W =Y h T, G % shg W 90° HI HIUN IHaa
AT 7, Tohal B 7

(a) 22, (b) 11 @i, (c) 7—27 . (d) % aut.
(3 sin? 30° —4 0052600) ENETE

@) 3 (b) 3 © -5 @ -7

EEF
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7. How many tangents can be drawn to a circle from a point on it ? 1
(a) One (b) Two (¢) Infinite (d) Zero

8. Which of the following cannot be the probability of an event ? 1
(a) 0.1 ) 3 © 3% (d) %

9. The angle of elevation of the top of a 30 m high tower at a point 30 m away

from the base of the tower is : 1
(a) 30° (b) 45° (c) 60° (d 90°

10. The mode of the numbers 2, 3,3,4,5,4,4,5,3,4,2,6,71s : 1
(a) 2 (b) 3 (c) 4 (d 5

11.  If the pair of linear equations x —y = 1, x + ky = 5 has a unique solution
x =2,y =1, then the value of k is : 1
(@) -2 (b -3 (c) 3 (d) 4

12.  (HCF x LCM) for the numbers 70 and 40 is : 1
(a) 10 (b) 280 (c) 2800 (d) 70

13.  The number (5 - 3 \/§+\/§) is: 1
(a) an integer (b) arational number
(c) an irrational number (d) a whole number

14. Ifp(x)=x>+5x+6,thenp (—2)is: 1
(a) 20 (b) 0 (c) -8 (d) 8

15. If AABC ~ ADEF and ZA =47°, ZE = 83°, then ZC is equal : 1
(a) 47° (b) 50° (c) 83° (d) 130°

16.  From a well-shuffled deck of 52 playing cards, a card is drawn at random.
What is the probability of getting a red queen ? 1

1 1 1 12

(a) ) (b) 2% (c) 13 (d) 3

17.  What is the length of arc of a circle of radius 7 cm which subtends an angle
of 90° at the centre of the circle ? 1
(a) 22 cm (b) 11 cm (©) 7—270m (d) %cm

18. (3 sin® 30° —4 cos? 600) is equal to: 1

5 3 1 9

@ 7 (b) -7 © -7 d) -7

430/4/3 5 ggﬁg [P.T.O.
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(atfireReum — Tk TR & TA)

T HEAT 19 991 20 H TH AT (A) % 91¢ T dw-we" (R) fem g i d @
Hﬁ%ﬁqﬂﬁﬁ:

(a) A (A) @1 @ (R) gHT e &1 dah (R), 1feped (A) i o =ame s 2|
(b) AfReA (A) @1 @ (R) gHT T 81 @ (R), 31Uhed (A) s Samen T&f L 2|
(c) TR (A) T ® Tg a (R) 319H 2|

(d) stfiepe (A) @18cd B Sk @ (R) &d 2l

19.

20.

arfreRed (A) : 39 forelt foig W Tt Y Tt foig & oM areft fosen w o
i

h (R) : T g0 & a1 foua o fog & 30 W di=h T et e i awrg
THAHH Bl &

arfireRed (A) : afg fgama wfieor 4x° — 10x + (k — 4) = 0 1 T gt &R g
%1 ek &7, I k &1 T 8 B

ek (R) : fgoma oo x° — x + 1 = 0% 9 arafas 3

wug - @

TUE - @ | T TY-3IW (VSA) ThR & T g 3R Tedeh T o 2 37 2|

21.

22,

23.

(A) feama Tt 3x% — 2x + + = 0 1 fafirert 3 i ok f zah gt
=l Jebfd FTd shife|

W

AUAT
(B) fgama wefiehtor x> —x — 2 = 0 % 9 71 i)

T ¥ S MRl § swEm: OP, OQ 3 OR W feua A
fog A, B 31 C 39 R & T AB||PQ 3 AC||PR I
guse % BC||QR 21

T § S ARG H, g O I Tk g9 W feua
fog Tw, PT wF &l @ 71 g LTPO = 30°
&, Tl x o1 HH 4 hifC|

EEF
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(Assertion - Reason type questions)

In question numbers 19 and 20, a statement of Assertion (A) is followed by a

statement of Reason (R). Choose the correct option :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) gives the
correct explanation of Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true but Reason (R) does not give
the correct explanation of Assertion (A).

(©) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

19.  Assertion (A) : A tangent to a circle is perpendicular to the radius through
the point of contact.
Reason (R) : The lengths of tangents drawn from an external point to a
circle are equal. 1

20.  Assertion (A) : If one root of the quadratic equation 4x* — 10x + (k — 4) = 0
is reciprocal of the other, then value of k is 8.

Reason (R) : Roots of the quadratic equation x* — x + 1 = 0 are real. 1
SECTION - B
Section - B comprises of Very Short Answer (VSA) questions of 2 marks each.
21. (A) Find the discriminant of the quadratic equation 3x* — 2x + % =0 and
hence find the nature of its roots. 2
OR
(B) Find the roots of the quadratic equation x* —x — 2 = 0. 2
22. In the adjoining figure, A, B and C are points on
OP, OQ and OR respectively such that ABJ|[PQ and
AC|[PR. Show that BC||QR. 2
23.  In the adjoining figure, PT is a tangent at T to
the circle with centre O. If ZTPO = 30°, find
the value of x. 2

430/4/3 7 ggﬁg [P.T.O.
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(A) 35 foig = faeenes s Hifse S foigedt A (<1, 7) 3 B (4, -3) = Sied
TSl TGS i AN 9 & 2 : 3% Fud 7 faanfora e 21
JAUAT
(B) I &g A (2, 3), B (-5, 6), C (6, 7) 31K D (p, 4) T TR Fg4s
ABCD & 3§ &, @ p @l 49 F1d i
T GEH B PQR, S Q W HHIW 2, # A2 R
tanPI\/§ 2, I 2 sinP cosP =1 #H 314 HIfSu)

P Q
@ug - T

@UE - TH AY-3IR (SA) THR % U9 § 3T TIAH U9 & 3 3k 2|

26.
27.

28.

29.

30.

firz ifm T 1+sec®  sin’0

secO 1—cosO

e fsuer foem @ SR 3BTeT At 21 WiiRiekar s Hifee
(a) E W FH Th fud 19 HE i |

(b) FIA Tk U YTH A H |

(c) 3ferer | 2Aferek ek forq ww & i |

feama afieRwor X + 6x + 8 % IR I TA T T IR qom O
i o "9 S Goaar i 9 ki

Brsar 7 @i, a1c T g9 % BSEEE 1 &9 {1 e, e g i
90° 3| T B, T4 <™ feuge w1 &uwd ot 7 Hifsg)

(A) g ST 6 s fog @ 90 @ T8 @O TEnsll il T s
Bl 2|
T

(B) g O & < "ehga It sht Brsamd 3 Tt ofk 5 A,
g1 92 I Al Sften AB, S B1¢ g1 HI fog P R T
cr e e i @

A P
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(A) Find the coordinates of the point which divides the join of
A (-1, 7) and B (4, -3) in the ratio 2 : 3.
OR
(B) If the points A (2, 3), B (-5, 6), C (6, 7) and D (p, 4) are the vertices
of a parallelogram ABCD, find the value of p.

In a right triangle PQR, right angled at Q. If R
tanP=\/§ , then evaluate 2 sinP cosP.

SECTION - C

Section - C comprises of Short Answer (SA) type questions of 3 marks each.

26.

27.

28.
29.

30.

430/4/3 9 ggﬁg [P.T.O.

I+secO sin® 0

Prove that socl  1—cosO

An unbiased coin is tossed twice. Find the probability of getting :
(a) atleast one head.

(b) exactly one tail.

(c) at most one head.

Find the zeroes of the quadratic polynomial x* + 6x + 8 and verify the
relationship between the zeroes and the coefficients.

Find the area of the sector of a circle of radius 7 cm and of central angle
90°. Also, find the area of corresponding major sector.

(A) Prove that the lengths of tangents drawn from an external point to a
circle are equal.
OR
(B) Two concentric circles with centre O are of
radii 3 cm and 5 cm. Find the length of chord
AB of the larger circle which touches the
smaller circle at P. O
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31.  (A) Foruu W ek o ot TRl qEaehterd =1 gem i oAt o1 e fra feRman
2 3N 3T o1g TAF Afafes feT =1 otem fomman 21 fifass 3 @@ fet o=
T I W@ % Q% 27 A oy, el AHie 5 U qash dre feAl
Tk W & fore T 21 3@ fohu) faa fommen aun yas afafee fea =

[ETEIIRET I 3
YT
(B) ‘@’ 3R ‘b’ & AW Fa shifere, fmer foe f e avfieron & gm0 +
Auftfiyd &9 @ 3 7 3 : 3

3x+4y=12,(a+b)x+2(a—-b)y=24
U - |
@Ug - 9 U -3 (LA) TehR & U9 g 3TR Iedeh U9 5 37k &7 2|
32. U am foga oA ® UM S o IR 9Ig W 3Ed W ,
A ¥ R STaeR o ¥ W T aEer F o9 @ 2™
e doreRR 3 ST T <t few st 21
éwmaﬁmlé7nﬁ.aﬂxsaﬁﬁw%ﬁ.%l

IR F FA JEA &FARA qAT AW [ hIC
TR BE & AT 1, T TR B &+
IR § g o Ja i) 5

7
(\

7 .

33. = fean mn §eq 100 ufEm i Aifees fosedt s @ua ki esian @

130-140 | 140-150| 150-160 | 160-170| 170-180 | 180-190 | 190-200
(et )
qiEm i
. 5 9 17 28 24 10 7
e
JYUTH STThEl ol HIETh T shilelu| 5

34. (A) UH AP. ® UgAT UG — 5 IR afqH ug 45 B1 IC A.P. & |efi gl

AN 120 B, A Y& < T I G =R [T ki) 5
HYAT
(B) afe Th A.P. % T8 7 UG 1 A 49 I UgA 17 Ual 1 A 289 7, dt
Y& 1 UET T TN TG shiferg| 5

EEF
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31. (A) A lending library has a fixed charge for first three days and an

additional charge for each day thereafter. Rittik paid I 27 for a book
kept for 7 days and Manmohan paid I 21 for a book kept for 5 days.

Find the fixed charges and the charge for each extra day. 3
OR
(B) Find the values of ‘a’ and ‘b’ for which the system of linear equations
3x+4y=12,(a+b)x+2(a—-b)y=24
has infinite number of solutions. 3
SECTION -D
Section - D comprises of Long Answer (LA) type questions of S marks each.
32. The boilers are used in thermal power plants to store ]
water and then used to produce steam. One such boiler 5m
consists of a cylindrical part in middle and two [ —— _
hemispherical parts at its both ends. —
Length of the cylindrical part is 7m and radius of
cylindrical part is %m.
Find the total surface area and the volume of the boiler. 7m
Also, find the ratio of the volume of cylindrical part to
the volume of one hemispherical part. 5
— |
S j o
33. The following table gives the monthly consumption of electricity of 100
families :
Monthly
Consumption| 130-140 | 140-150 | 150-160 | 160-170 | 170-180 |180-190| 190-200
(in units)
Number of | 9 17 28 24 10 7
Find the median of the above data. 5
34. (A) The first term of an A.P. is — 5 and the last term is 45. If the sum of all
the terms of the A.P. is 120, find the number of terms and the common
difference. 5
OR
(B) If the sum of first 7 terms of an A.P. is 49 and that of first 17 terms is
289, find the sum of first n terms. 5
430/4/3 11 23 [P.T.O.
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35.  (A) @gg-da ¥ 75 . 9 e TRE % ER ¥ I@H W I 4 el &
ST BT 307 3 450 7 | A TR AW F T A IR T T@ gu
SETS o 3 113 @, A1 @Sl o oie sl g4 T hiT |
(7 = 3 =1.73 & T 3)

YT
(B) u4ftr % & g P & & 10 . 3= W o R o1 S5 w07 307 21 W
& I W U s ol AT T ® I P A o @ H 3T B0
45° 8| easice Y s o g P & wat Y gft 3 hifd
(@t 39 /3 = 1.73 % @ 8)
quE - 3
Tug - gﬁswaw&w/uﬁaaﬂmﬁﬁm%ﬁﬁﬁm%4m%|

36. @ft 3w e Y Ul w1 SARSH T
TRl ¥ W & U SNEe 'H %
HOT, I8 U H had BA & GUET I
HHAT AT Bl T8 36 T MW 60 haol
Tlied! 3 TR Heeh! THEHE WET H %o o
=1 faofa ot 21
SWIH STHeRR] o AR W, 7 Yo & 3w S
(i) otferepan foraw arfafer, geft smifia st et 8 7
(i) S Safafyr o ferae B 3T et T8 BHI 7
(iii) (a) 3 G 42 W IR TS A&, AT AeThRAA fohaq AT I8 THEA

Tl & ?

arerat
(b) I 1 g5 el 1 Yed 60 %., 1 TS & oI 15 & AR 1 W &
T 20 & 7, A 60 hal, 36 I IR 42 7 Glied o foQ Ferat Th

T R B ?
37. = a4 ToE AU ATHKET i SAFYEH CRIT 3R T o IR AT
ICERD
p_ 24%d. S 4.8 9. R
L/ % .

EEF
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35.  (A) As observed from the top of a 75 m high light house from the sea-
level, the angles of depression of two ships are 30° and 45°. If one ship
is exactly behind the other on the same side of the light house, find the
distance between the two ships. (use V3 = 1.73)

OR
(B) From a point P on the ground, the angle of elevation of the top of a
10 m tall building is 30°. A flag is hoisted at the top of the building and
the angle of elevation of the top of the flagstaff from P is 45°. Find the
length of the flagstaff and the distance of the building from the point P.

(use J3 = 1.73)

SECTION - E
Section - E comprises of 3 Case Study / Passage Based questions of 4 marks
each.

36. Khushi wants to organize her birthday
party. Being health conscious, she
decided to serve only fruits in her
birthday party. She bought 36 apples
and 60 bananas and decided to
distribute fruits equally among all.

Based on the above information, answer the following questions :

(1) How many guests Khushi can invite at the most ? 1
(i) How many apples and bananas will each guest get ? 1
(ii1) (a) If Khushi decides to add 42 mangoes, how many guests Khushi can
invite at the most ? 2
OR

(b) Ifthe cost of 1 dozen of bananas is I 60, the cost of 1 apple is I 15
and cost of 1 mango is ¥ 20, find the total amount spent on
60 bananas, 36 apples and 42 mangoes. 2

37. Observe the figures given below carefully and answer the questions :
Figure A
D 2.4 em C S 4.8 cm
L/

2cm
S cm

2
4 cm

105"

2.4 cm

A (i) A (i)

430/4/3 13 ggﬁg [P.T.O.



[EIE
&%ﬁ
0P

\CERCH

D 3.5 Tt C S 3o, R

|| L | L
E )3 )3 £

[ ] [] [ 1 [

A 3.5 9. B P 3 4. Q

W (ii1) G (iv)
CER
A P

3 20t '1 3 2nh
T (V) T (vi)

(i) 9% T JamE SEH GHI STRaa WER 996 &

(i) =% fo=t same few gHt sepfaat Tatmaw &

(iii) (a) Tag Fi for Tafmay By Taew ff g g weg foada 7=

arorat
(b) < wuEy By # wafmg g9 % o w9 @ %9 F e fen g
=ifge ?

38. THIGR o3 ©dl dh HISEd Shid 1 SEAHTA hid © 3T@l hl U HASI 37
fir 2 81 < 21 o= e PUBG” @e il & o STl ®, Sedl €
TEIE & 9 21 PUBG @eH o gsafoma Y
& o1 H OIS SAEeehdT 96 & o, Tk D(1, 5) ¢(.3)
foeme@ ‘BAN PUBG® 1M & & 1
e e 2, R = ) SR A BAN PUBG
Wl W I FEAT 2| Fa X o T formed SAVE KIDS
I oTE TS AR dedt fom o fowrE g R)

|acn B(7, 1)

ITIF THER F MER W, £ v F IR

T

(i) oot AC e BD & wfteaer famg & fadammes qma Hifs)

(ii) fomui AC it orarg 3ma hife)

(iii) (a) AR Tt ABCD &1 &% [1d shiferg|

Froran
(b) S AB &l @wTg o1 31U, Tl AC it araé @, 7ma fifvg

430/4/3 14 =5
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Figure B
D 3.5cm C S 3 cm R
] ] ] L]
§ g g g
1 []
A 3.5¢cm B
B (iii)
Figure C

C (vi)
(i) Name the figure(s) wherein two figures are similar.
(1)) Name the figure(s) wherein the figures are congruent.
(i11) (a) Prove that congruent triangles are also similar but not the converse.
OR
(b) What more is least needed for two similar triangles to be
congruent ?

Use of mobile screen for long hours +Y
makes your eye sight weak and give you D(1,5) C(7,5)
headaches. Children who are addicted to
play “PUBG”’ can get easily stressed out. BAN PUBG
To raise social awareness about ill effects &

of playing PUBG, a school decided to SAVE KIDS
start ‘BAN PUBG’ campaign, in which
students are asked to prepare campaign A(L D B(7,1)

board in the shape of a rectangle. One .
such campaign board made by class X student of the school is shown in the
figure.

Based on the above information, answer the following questions :
(1) Find the coordinates of the point of intersection of diagonals AC and
BD.
(i1) Find the length of the diagonal AC.
(ii1) (a) Find the area of the campaign Board ABCD.
OR
(b) Find the ratio of the length of side AB to the length of the
diagonal AC.
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